SUZUKI GSX-R1000 ('07-'08)
REAR SETS

part# S-GSX107RS

Flat side of BEARING COLLAR 12.5 (#14)
should face STEP PLATE(#8), with the stepped
side facing out toward shift pedal bearings.

Flat side of BEARING COLLAR SUS (#13)
should face STEP PLATE (#6), with the
raised side facing out toward pedal bearing.

[L] SIDE

1.HEX BOLT M8x45mm [HBT-M845]

2.FLAT HEAD M8x35mm [FBT-M835] X 2
3.BUTTON HEAD M8x35mm [BBT-M835]

4 BUTTON HEAD M6x10mm [BBT-M610] X 2
5.BUTTON HEAD M6x20mm [BBT-M620]
6.SOCKET HEAD M6x20mm [SBT-M620]
7.BASE PLATE COLLAR 10L(BK) [BPCLR-10L]
8.STEP PLATE [L] [s-GSX107SP-L]

9.HEEL GUARD [L] [HG-2L]

10.FOOT PEG COLLAR 12 [PEGCLR-12]
11.SHIFT PEDAL [spp-9]

12.FOOT PEG [PEG]

13.PEDAL TIP (DELRIN) [sT-001D18]

14.PEG BEARING COLLAR 12.5 [PEGBGCLR-125]
15.MALE REVERSE ROD END M6 [RDED-M6L]
16.REVERSE JAM NUT M6 [JNT-6L]

17.ROD END COLLAR 3(GD) [RDEDCLR-3]
18.SHIFT ROD 110 [SRD-110]

19.STUD M6 [sTuD-mé]

20.JAM NUT M6 [NT-6] X 2

21.SPLIT WASHER M8 [sws-g]

22.FOOT PEG END CAP [sT-002]

[R] SIDE

1.HEX BOLT M8x45mm [HBT-M845]
2.FLAT HEAD M8x%25mm [FBT-M825] X 2
3.BUTTON HEAD M8x25mm [BBT-M825]
4 BUTTON HEAD M6x25mm [BBT-M625] X 2
5.BUTTON HEAD M6x20mm [BBT-M620]
6.STEP PLATE [R] [S-GSX107SP-R]
7.HEEL GUARD [R] [HG-1R]

8.BRAKE PEDAL [BPD-9]

9.BRAKE ROD M [BRD-M40]

10.PLAIN WASHER M6 [ws-6]

11.E-CLIP M6 [EcP-6]

12.FOOT PEG COLLAR 15 [PEGCLR-15]
13.BEARING COLLAR SUS [BGCLR-sUS]
14.FOOT PEG [PEG]

15.PEDAL TIP (DELRIN) [sT-001D18]
16.SPLIT WASHER M8 [sws-g]

17.FOOT PEG END CAP [sT-002]

Not Pictured:

BRAKE LIGHT SWITCH P-1.25 [Bsw-125]

POSITIONS
I Omm Back 14mm Up
[2][_Omm Back 24mm Up
z 10mm Back 14mm Up
z 10mm Back 24mm Up
[5][ 2.56mmBack ][ 29mmUp |
[6][ 2.5mm Back 39mm Up
[ 7][ 12.5mm Back 29mm Up
8][ 12.5mm Back 39mm Up

OUR REARSETS TRIPLES THE NUMBER OF POSSIBLE
MOUNTING POSITIONS TO 24, COMPARED TO 3 POSITIONS
PROVIDED BY THE STOCK MOUNT.



